S5UH ¥ % AGRF AUE AY
Absk 3™ 3 24 (MOU)

L RS ECE
) QLR a
F% 23 43 992

25R (513 4.4.@]»1%]_,_-‘:—2’_‘1 (o] 3} “ek >
—‘3 A S)E 25 AN AL asin Y
232} 4%34 o) kS AHE 3}

ALZ(3H) 2 M ¥ o) 43 18 RPN E S doz 1
9 AT $5 IAE PR A FALE Sz o H90) 9.

N2Z(FY 3ob) 2B g 2zq dae gL

1.9 299 3945 A7 2902 A4

A9 3% Y 24¢ AY 15 9

REREER DR EESE I EER

CAE Y HE AL YA 33

o2 2F 2 INY 2

LA RO B B8 A Y 33 3 ) 2F AR

OlE 23Y 3 A9 2ge o) H A
AIZ(A A ok o) B2S o) Yokl FAY YH 3ok o) B8P A 33
FA50) AN 43PN E P52 34-33Y 5 909, BI A8 o o)Be
$E 59 299

A4E(FP)Y) 2 gore 23 Yok 29 24 oA
Ygozrn 9oz x:ao} : 22194 2 238 9394,

ASEAF, %9 $0) 2 Yebe pshed 9y A2 3 DAY 935 )
IE ok 92 9, 4 23 2997,

A6Z(IH) 2 G 32157 by B Aol dlzhe) Aate) Aahel s o 2
9 g Q3o 3P,

2 AT 238 Bshd 9 o) Bol A2 194 23

2024. 9. 5.

5
P £ JIX|DE0D

= X} Agx]ﬁ«%z
A g 3 X5 [/F/




S50 4 2 ADYF A9E AR
y o)
NS A H

FHEHAL (¥ 9)G AF3o)YnFFIGH FadNA 253
olfg} 22 2oz o)) A3} MY FYAEE T3 3
I A 2 LS AP

UNEAEY : A9 F3Y 01 Y3 #)9Y H LA =
O A3 2583, Adxgga) 49 944
L] A2 F - 28 23] 129489 1~23d e} 493 YAAHA8s1E
A2 A GAA PPN -L AR AL
U 2482 : vy Ag9UAA 9F3 58 s
A9 =24 =), Yls(99,435 5. ZA9HWMAE D)
1 912 J(x)% : (13,800 )49 ~ (4,300 )99 + @ (4E53, 49-2)
AFGAA ML ¥ SRR

O FHYNL N MYPF 2 t}"d%t}—’- 2009+ =9 0
- ZH 3P (AL, A x4 =M F) S04 9 |
0 )2 2 %Itw(% 2¥]) ¥ AG(AJ4) $9
— (28N 23] F23) PN F (33 13p) 323 shisdsd) O
- A1 239 10% n—x} -%ﬁm?r/ub} ] o) 5F A A
_ 9 “"5.23 A4 [¥)F - 214234 253 - 39-5°H o |
O U 3 23551F ) SIS S22 1005 A9 o
- *Mﬂhﬂi} 3855 FA7H 235 AGAHYAL oRHAA
@ 59 (199 )% 98) ¥32 2ed= : 439 50% ¥2
- 151 1»# (159=21), 224 2:3(409eH), 350 2u3(45% 1)) O
- WHEY2E2R Pk kY IdN 93 Mt LS5
O 5 & A5 ZIYEUYYVAIY SV 2209 |
- YFATHFAQRGA) - GFLUAANAY) -2 O
- 28] PAFgE203) : JoHEse), A gag RIS 5

2024. 9. 10.

abt ele

&
P 2& DT VINATEéTﬁ;:!
e

3 A .g.agxy‘

r.)] R:3 »H x >:1.;§




(o]

)7 opd Y x
A § g A

FAH (@YADY ) AFehol 2T eal FxAMA D
$3)% obdsh B 2yo2 oY HAH Ay AEAEE 39
o Y4 A % AEE FEPI

LA AR - A AFY o) A3 A ARAE
J‘W"J .’x‘.ﬂM AR A P EgA YA

9 3

-

S EREEEER

E
°
8}

BT -

SERE:

LA F -

1 (10)
(28d) o 49 Az (33 13)

21 HH3) A A A) A

ot

A A o

g

B
K

(A4 7],

e, b3 [ A )

(4,000) =4 ~

(4,200) 9+

A3y =

(2]

0 zl_-‘ahg »\3 zé) /\]

3} ]‘%“" A2 )

-?J ) =8

| Ao} 3

A} 3)2

@ \ﬂ]i%
0 Y3

BISECE —,Teazm

1ﬁd%w‘a%@

W)

(100~200) w3 14

O

s S| D ek 3 S(akaals) )

=
B

93)9 (100) $& #18
7

—?-] 'é} X] -r-)
o 2, OOO“)“TJ)

=

51 % 2zd=

®

2024. 9. 6.
’3443F”%§
) & ' .

3 B




